“ar 3

TR ERE B ERRERESERICBIAFRYANIILABREOERE

(1) BRF&IILREE
HBsiL &R IZELY
ZE(A) TIiE &ESh R (%)
T=E/(A)
F#24 A | REFERDITILAS ] F#ITR | RAFHEIIR H#OAILA REN# £tk
HERR XER HEEN EERE KEER 24ILR
SRR 44,433 236,413 280,848 424 2,494 2918 10 11 10
2) CREF&IAILABE _ _
Fﬁg.%cﬂﬁﬂgb—{é&x
- i< LTS TA]
BRBEL) BAEHTELY ) LM B BHE (%)
Shi=zE (A)
FE2ILR  |RAFRI/ILAR £ F#H21LA | RAEEIAAR H&E2AILA XAR% &tk
BEXX EEE MEEX HEENR BERX FAIA
ERE224E R 36,987 240,356 277,343 342 1,860 2,202 09 0.8 08




ERE22FEE BREFADAILAREERHEER

F#2MILARERX RABF#IILARESRSE
HBshRBEIZ HBsiARiEE
® B s L TS &EFER B Hio b VTl 2 &2 %
r % & 5 & TH &
HEEThiES (94) HEShtH (96}
(A) (A) C (A) (A) c
A B (B~ A % 100) o] D (D7 C % 100)
1 £k & B 318 8 25 i 0 0.0
2 i 6 0 00 389 7 1.8
3 2 F R 148 5 34 190 5 26
4 E # @ 3t 3 9.7 1,823 25 1.4
3 ¥ B R 155 5 3.2 198 0 0.0
& TV 386 3 038 0 0 0.0
7 = B B 32 0 0.0 171 1 0.6
8 %X B =R 089 11 1.1 0 0 0.0
9 - 277 1 04 38 ] 0.0
10 B E B 683 Z 0.3 0 0 0.
11 # E R 1,557 8 05 12 0 0.0
12 EE 3.052 15 0.5 188 3 1.6
13 . m 198 4 2.0 0 0 0.0
i4 A FE N m 98 2 2.0 5 0 0.0
15 i B B 240 0 0.0 10 0 0.0
16 T 151 2 1.3 13 2 154
17 a5 R 274 0 00 1,334 14 1.0
18 . 224 3 1.3 56 2 6
19 1] -] 407 0 0.0 0 0 0.0
20 E 5 m| 89 1 1.1 0 0 0.0
21 % B R 192 2 1.0 33 3 9.1}
22 ) o 1,355 6 04 151 2 1.3
23 T a4 m 710 9 1.3 88 § 6.8
24 = ¥ B’ 876 7 0.8 224 0 0.0
25 W w 6032 2 2 0 0.0
26 B R 217 2 09 51 2 39
27 A B B 531 1 2.1 15,686 156 0.8
28 E W 52 4 0.8 2177 10 0.5
29 X H & 182 0 0.0 3 0 0.0
30 Al T 103 1 1.0 67 0 0.0
31 % MW =& 196 1 0.5 17 0 00
32 & iR W 101 3 3.0 703 14 20
33 =T 130 0.8 144 i 0.7
34 h_ & B 16 0 0.0 3,633 37 1.0
35 T ! 66 2 3.0 10.873 59 0.5
36 g B» & 281 6 2.1 0 0 0.0
37 % I = ai i 0.0 75 1 1.3
38 F 8 = 526 2 0.4 44 0 0.0
39 oM R 7 0 0.0 876 6 0.7
40 2 B R 332 8 24 1,914 24 1.3
41 E__W N 58 1 1.7 3,781 37 1.0
42 [ 225 2 0.9 520 9 1.7
43 B B 505 8 1.6 286 9 3.1
44 A 5 B 185 2 1.1 12 0 0.0
a5 E % wl 276 5 i.8 147 2 1.4
46 B R R A 62 2 32 824 21 25
47 B O m 0 0 0.0 0 0 0.0
FRAT AT 17.608 159 0.0 49,758 458 0.9




&L ARERE REFHILABENSE
HEsHIREFEIC HEsHRIEE
B O#EE v TmaEBR® B OE: s L R R FE
T | % 1 & TRElE
Y EEh K (94} HEEhi¥ (96)
(A) (A C (A} (A} C
A 8 (B.7A %100 c D {D./C % 100)
48 B Th 0 0 0.0 54412 672 12
29 T 29 0 0.0 5219 61 12
50 SWWEED 614 3 0.5 17.883 141 0.8
51 F % m 58 1 17 0 ] 0.0
52 KW ] [ 0.0 9,786 109 1.1
53 s W 135 2 1.5 9,108 93 1.0
54 | B B m 0 0 00 164 10 6.1
55 B B H 579 i 0.0 8,546 80 0.9
56 BB m 538 2 04 5.632 58 10
57 iE B 799 2 0.3 78 4 5.1
58 2 HE ! 754 9 1.2 18,552 105 0.6
59 A 1.997 21 1. 0 il 0.0
60 X K& W 5444 27 0.5 0 0 0.0
81 G 199 1 0.5 8,982 99 1.1
62 B 857 17 20 173 3 1.7
63 B i 18 [ 0.0 141 5 35
64 m_® 122 0 0.0 8,743 60 0.7
65 £ A M o 0 0 0.0 6,720 121 8
66 - 455 6 13 13497 1971 4
67 B M T 199 10 5.0 ) 0 0.0
68 Ml W 150 10 6.7 0 0 0.0
69 i H 127 1 0.8 1,671 16 1.0
70 G 30 0 0.0 0 0 0.0
71 ® B W 118 2 1.7 0 0 00
72 W th 47 1 2.1 0 ] 0.0
73 Ly %;*ﬁ 120 0 00 0 0 00
74 E3 ki 188 i 0.5 0 0 0.0
75 i3] T 142 0 0.0 0 0 0.0
76 Jn_?ﬁ 913 4 04 174 6 03
77 H 107 : 2.8 0 0 0.0
78 % il 561 0.2 1,307 12 0.9
79 p i 249 5 20 0 0 0.0
80 [T 5 45 1 22 6 0 0.0
81 % R W 57 1] 0.0 175 2 1.1
82 E B o 58 1 1.7 [1] 0 0.0
83 & B 77 1.3 87 2 2.3
84 % B m 264 1 04 36 2 5.6
85 B W &% 92 0 0.0 0 0 c.0
86 # @ W 380 7 0.5 397 B 15
87 X 3 jiil 134 0 0.0 2 o 00
88 - 23 0 0.0 0 0 0.0
88 * & 191 0 0.0 0 [0 0.0
90 B B 72 2 9.1 9 0 0.0
91 E_# 323 2 09 36 i 28
92 Bm = W 116 1 09 11 0 0.0
93 = B T 35 1 2.9 24 0 0.0
94 o ®» T 96 1 1.0 126 1 0.8
95 B 0 165 1 0.6 10 0 0.0
96 B i 1,340 25 19 157 7 4.5
97 T h 239 3 1.3 63 1 16
98 7 65 1 15 178 5 2.8
99 ST 340 2 05 129 1 0.8
100 ] m 84 2 24 1541 8 0.5
101 A _® ¥ 37 1 2.7 1,567 15 1.0
102 E W 195 0 0.0 3.700 54 15
103 . S 248 10 4.0 120 3 25
104 - 254 4 1.6 a7 1 2.1
105 = B _ h 230 3 13 0 0 0.0
106 B R & | 822 6 0.7 ] 0 0.0
107 I 57 0 0.0 420 5 1.2
108 N T F TR 0 i) 0.0 186 [i] 0.0
09 W N W 75 0 0.0 0 0 00
110 H m_h 489 4 0.8 222 5 2.3
111 [} fil 77 1 1.2 729 16 2.2
112 X % B 1 ] 0 0.0 1,191 i 0.1
113 % M & m 26 1 3.8 1,192 16 13
ERAE A 23049 206 0.9 184,720 1,908 1.1

2.0




Fri22FEE CEFATANABREEEZEE

FROIMILABERE REHHEVAINLABREER

TREE. CERF#5 1 TR, GRS

JRICESLTND TANAITEG
2 B % A RERE BEEE B OB LThaTpk|E R E F

AEHTEL LN HEHTEL

Eahi-E Laedhlk (%6)
(A} (A (o (A) (A) c

A B (B.~A X 100 c D (D.”C X 100)
1 * & F 318 3 039 0 0 0.0
2 * K n [§ ] 16.7 390 13 3.3
3 5 _F R 151 ] 0.7 187 2 1.1
4 T & R 30 [i] 0.0 1,833 5 0.3
5 BOH W 154 2 1.3 211 5 24
5 [T 2 332 1 0.3 0 0 0.0
7 E_BR R 32 0 0.0 171 0 0.0
[ x & = 986 11 1.1 0 i 0.0
A . 273 4 1.5 40 0 0.0
B K = 534 7 1.3 0 Q 0.0
B FE IR 1,567 14 0.9 12 0 0.0
F %X R 3,042 15 05 180 3 1.7
X T X 198 3 15 i 0 0.0
Mo IR 89 5 5.1 5 0 0.0
# B & 218 1 0.5 10 0 0.0
= i M 152 0 0.0 9 0 0.0
Al R 274 0 0.6 1,334 5 04
®_H# B 195 0 0.0 58 2 34
T 49 2 04 0 0 0.0
5k 5 lﬂ‘ 8 1.1 0 0 0.0
¥ B W 191 2 1.0 33 2 6.1
L 282 8 2.8 152 F 1.3
B H W 688 7 1.0 85 7 8.2
= =B =B 903 4 0.4 224 g 4.0
HOX W 601 0 0.0 2 0 0.0
m R i 214 2 0.9 51 2.0
X B K 534 7 1.3 18,686 i6 0.9
E N B 487 2 04 2153 1 0.5
E B M 183 0 0.0 3 0 0.0
AT 107 0 0.0 68 5 7.2
5 I =R 203 2 1.0 17 0 0.0
% B W 106 2 19 710 16 23
B 130 3 23 144 7 48
B R 18 0 0.0 4418 19 04
] m| 67 2 3.0 10,873 93 0.9
£ »n R 284 2 0.7 0 0 0.0
T L 0w 37 1 23 75 0 0.0
¥ » !&1 94 2 2.1 44 1 2.3
W N W Fi 0 0.0 917 9 1.0
W B W 328 7 2.1 1914 55 29
£ ® 59 1 1.7 3772 63 1.7
E & 225 0 0.0] 517 ] 17
X m 506 20 40 287 8 2.8
X 4 B 183 9 A9 10 0 0.0
N © 268 3 1.1 145 3 2.1
E R AR 63 1 1.6 824 6 0.7
L 0 0 0.0 0 0 0.0
R 15,909 158 10 50,605 [ 1.0

2.



FRIANLAREER REBFFEIMILARERE
%, CRFLr THE., CRIF%
LRIDEZELTNG YA
E & )3 B ERSRE B O FLToskEm|E R ¥ B
HUESHTHEL LN HEHTEL
BENE (%) LinEEh % (9%)
(A) (A c (A) (A) c
A =] (8. AX100 c D (D./C X 160}
48 ] ] T 0 0 0.0 55,306 180 6.3
49 b & m 29 0 0.0 5,232 37 0.7
50 N 504 2 03 18,163 104 0.6
51 F ¥ W 58 3 5.2 0 0 0.0
52 ] B W 0 0 0.0 9,788 85 0.9
53 [T 135 0 0.0 9,100 76 0.3
54 B B &M 0 0 00 164 3 18
55 % B 584 0 0.0 8,546 27 0.3
56 B B 529 3 0.6 5532 93 1.7
57 K W 524 2 04 83 1 12
59 % 8 E W 754 5 0.7 18,552 130 0.7
59 w W M 1,991 34 1.7 0 0 0.0]
60 A & 295 13 4.4 0 0 00
61 i 199 1 0.5 8,982 31 1.0
62 g B 800 5 1.9 173 2 1.2
63 [N 18 1 56 141 [ 35
64 I B W 122 7 1.6 10518 59 0.6
65 | A I ] 1] 0.0 6,720 128 1.9
66 ¥ M W 455 6 1.3 13497 155 1.1
67 BE__# 194 1 0.5 i 0 0.0
68 i 151 0 0.0 0 0 0.0
59 h 117 0 0.0 1,675 10 0.6
70 B ¥ 30 0 0.0 0 0 0.0
71 £ M@ 119 ] 6.7 0 0 0.0
72 T 47 0 0.0 0 0 0.0
73 W Fh 120 0 0.0 0 0 0.0
74 ¥ REH 18¢ 0 0.0 0 0 0.0
75 Wi & 144 1 0.7 0 0 6.0
76 I # H 310 3 0.3 1,746 13 0.7
77 ¥ B’ o 107 1 09 0 0 0.0
78 i 563 0 0.0 1,307 2 0.2
79 E A K mh 249 1 04 0 7 0.0
80 TR 3 44 0 0.0 [ 0 0.0
a1 & R _m 57 1 1.8 175 0 0.0
82 E g H 59 0 00 0 D 0.0
83 % i 71 1 13 87 4 45
84 7 3 263 1 0.4 36 2 58
85 B__ Wb 88 3 34 0 i 0.0
88 L 379 2 05 307 6 1.5
87 X % il 133 1 0.8 0 0 0.0
88 il 23 0 0.0 0 0 0.0
89 % kX B 197 3 1.5 0 0 0.0
90 - 22 0 c.0 9 0 00
g1 B 7 223 4 1.8 36 1 28
92 '] il 123 0 0.0 11 1] 0.0
23 Z= T 35 0 0.0 24 0 0.0
94 P I m 38 1 1.1 129 2 16
95 = i 113 1 0.9 11 0 1]
96 thm 1,340 3 02 157 1 6.6
97 T _ M 240 1 04 b 0 0.0
98 B 65 2 3.1 17¢ 0 0.0
99 TG 338 2 0.6 129 4 3.1
100 W M F 86 0 0.0 1,557 6 04
101 2 ¥ 39 0 0.0 1,567 33 2.2
102 L 195 1 05 3,706 27 0.7
103 E_x @ 247 11 45 127 6 47
104 X # W 254 1 04 47 0 0.0
105 = W 236 0 0.0 0 0 0.0
108 B R % 795 4 05 0 0 0.0
167 O 57 1 1.8 422 2 0.5
108 ANTE Fih 0 1 0.0 186 2 1.1
109 B R M 25 1 40 0 0 0.0
110 B WM 495 2 0.4 222 2 05
111 = h 77 2 2.6 732 10 1.4
112 X B M\ 0 0 0.0 19 i 0.1
113 £ i} 25 1 40 198 6 05
R AT 16,475 152 09 187,813 1,317 0.7

2.2




N

1 FRTINABRBEER

(1) BEEXS{LARS

TR22FEERBISEERICETORRVANARBEORE

HEs M EI= 1
EBE(A) TIMEIENEEL AR (%)
&N
woxky  |AERion # Ry RMMLIATH RE~DEE B omisy nni:fg 24
R B L £8.801 512,798] 581,332 442 4978 5420 L11] 10 09
(2) CEF#IIILABE
ALmRLT
= 3
FUE(A) SRS TRLY S WA W)
Thizk(A)
WRMMGH O R
L E et 3 L B RN N O RRDRE H somien aﬂ;:nm E3.3
TR2IEN 68,665 500,084 510,149 156 3,008 4058 62 (2] o7
(PRCEBUBMI NV AEEEROERIZ T (EH)
BRI ABAREDES CEFAGAAERAEORMN
[ 1.5t Ach] BRRE(N)
14 17
13 15
12 12
1 13
1 2]
(1] or
1] 05 ;
H1e HI5S HIR Hi? Hit Hid Hio w2 Hz2 Hi4 His H1a Hi? Hig () o -1 e
(3) MW - A
1131 MM
B (E) ] BHEARCL) RS R (E) T PMEABN)
SRR 2230 41,611 314 | 14.208
2 BREIANABEOEREE
(1) A0mEE
(REGE: %)
] N 40K
_,ﬁéam %ﬁ’*‘ K24 5
CUMHE# 5
- 2 R 02
| opampy | FRAFR
(2) ORBELNOSRE~DERE
N — Y (g2 %)
T~ 15 T~ T 0~ T~ b 3 ren
i i L] - L) 5408 59k K 94 gL
B!Exi # NE2ER 0 22 1 a3 iz 8 20 23
m ER2EN 02 o0 0z 03 00 oo o 0z

CEIMERARUOERIZEY, —ROEEEMNRRM L2 0TI D0, Sk, MWK EMELSRIESNHS,




FR22FE BEFRVALARERELR

1)40
HBsGMARLE LB » & #
3 ® KR B HTBEILHESH L E (%6)
(A (A) (A) C
A A B (B A%100)
1 E 43526 847 12 1.4
2 x 2 E 9,292 515 1.2
3= + n 11,651 1,033 1 1.0
4 = [ .} 30,649 1,468 1 0.8
5 7 1] [ 11,835 554 4 0.7
[ 7] ;2] .3 12329 557 4 0.7
7 & » n 30,543 938 7 0.7
8 = [ .. 34,283 1,586 g 0.6
9 ﬂﬁ X [} 23,901 1,745 g [
10 13 -] .3 19,296 1,386 3 0.2
11 1% S [ 155,418 3,134 23 07
12 ¥ x [} 75,353 7016 36 0.5
13 ™ x oW 238,488 13,62 78 0
14 & = i gl 62937 1,553 14 0.9
15 ¥ ) [} 17,468 510 F 0.4
16 & 1] 9,143 1,192 10 0.8
17 £ I ] 10,952 1,352 [ 0.4
18 a 10477 203 2 1.0
9 [H] 3,988 777 2 0.3
0 ¥ [ [} 17,883 555 4 0.7
i [ L] [ 25,288 1,611 5 0.9
22 [=] [} 42,473 2087 F 0.6
23 * =1 156,228 5657 22 04
24 = 16,679 684 3 0.4
25 H X " 20,714 494 4 08
26 w 13753 1,589 7 0.4
27 * [ [ 111,204 2,106 10 0.5
28 & 3 " 76414 1,474 11 07
29 & B [ 20,338 871 01
a0 M1 B b % 12,026 559 3 0.5
31 » ] [ 6,654 258 3 1.2
3z_(m W W 7,628] 82 ]
33 ] fil] [ 24,428 280 3 K]
34 /A L 24,474 335 2 X
38 [ 5] [, 15.355| 138 - 0.0|
36 ___|& [} [ 6,930 12 t 0.3
a7 F 1) " 12,698 78 7 03
B % 3 [} 17,526 75 i5 4 .q
38 F_] a [, 8,993 217 1 X
40 =] [ 47,767 1,021 1 1.1
41 % X A 4,407 747 0.7
2 & ] [} 7.478} 231 1.
43 il S n 8053 446 1 0.2
44 * 5 [, 14,367 381 11 28
45 I3 Wt [} 27,114 273 1 0.4
45 B & % 11,367 955 9 0.9
47 19,691 391 4 1.0
L s 1,595,856 64,461 415 0.6
(1) A0MIRES (R4 T)
HBsMARCEL L &
o ® KR B EiImEI1eMErhis (9%)
] : ‘ (A) (A} ' : (A) ‘ c
: A A B (B, AX 100}
(Hin)
48 E 7] i 0 = Z Z
49 il & i 15,050 - - -
50 &% Ly 7 il 21,240 907 6 0.7
51 F . 3 fidl 17,505 1,871 11 0.6
2 | =& Eid ] 40 = 00
3 J1i] il 0 - - -
4 8 12433 299 5 1.7
55 3 o = - -]
56 i 5] i 0 - - -]
57 3 B o 11,900 118 - 0.0
58 & #H BT 0 - - -
58 |® F3 i o - - -
60 x [ i 40,357 235 - 0.0
61 i il [} - = -
62 rﬁ B il 23,821 507 3 0.8/
63 [ 11| i) 8,996/ 92 1 11
64 I & @ 3429 13 = 0.0
65 £ A M W 3117 58 1 17
66 3 ] i 0 - - -
{Eﬁﬁﬂ 158,648 4,149 77 0.7




(2)0REBLUSORRE~DRE HINFFR)

EAN

HBs INBELHBLC|E ¥
% B EIEHilEEdhiE (96)
(A) (A) o]
A B (B.7A X 100)
1 . i 11,267 202 1.8
2 w Fed [} 2922 70 24
3 [ F 10,351 125 1.2
4 = P [} 5250 57 A
5  |® i3] 795 12 5
6 i B [} 6,042 50 ¥
7 10,714 [¥] Y
3 * H [} 16,108 77 [
[ F x [} 7.999 63 0.8
10 I3f E g' 7.340 34 6.5
11 % Ed .3 26619 233 [
12 |¥ E3 %I 31.440 258 .8
13 [ B 98,260 869 .9
14 22,786 22 0
15 ¥ 5.220 LT .9
16 |X 1.081 0.8
17__|& [} 056 24 0.8
18 [} 17 30 1.0
19 i L] n 87 75 1.1
20 |%& [ [} 221 41 0.5
21 [ 4,750 34 %]
27 " 14378 140 1.0}
23 __|% H [ 21,614 164 0.8
24 |= F 3 L3 4422 28 0.7
T 2.064 2 1.0
36 3 2.426 17 0.7
27 |x [ [ 22,885 211 0.9
28 21446 264 1.0
29 |§ E i 1817 17 0.9
30 0wl W} 3,121 20 0.6
3t [ [ " 2236 51 2.3
2 |m | [ 1424 15 1.0
33 |® i 3 6,805 64 0.9
M = » » 9,735 124 143
35 i [] [ 1,238 19 1.5
R ) L] 1534 11 0.7
Y 3 1n 4414 36 0.8
3B ___|% g ] 4,672 47 1.0
35 |& Hi [ 1.298 10 0.8
40 & L3 8.341 82 1.0]
4 [ x .3 4962 81 16
42 E [ i 5,170 82 1.6
43 S - 4362 61 4
44 1% L 6,510 82 3
45 [~ [ 2,737 28 2
46 [ W X W 10,952 123 11
47 4278 118 2.7
LY 487,624 4,555 1.0
(2} 40 ISE LA ON B~ DOHE (FEEBH)
T HEsRM BRI T8 |
® B EIBILMEShE=E (%)
A . (A) c
. A a8 (B.7A X 100)
| (518)
48 B, 0§ - - =
43 i =3 il = = -
50 & W f- ¥ 16,985 135 08
51 ¥ 568 6 1.1
52 |M F il 1,691 28 %]
53 | ] il - - -
54 | M W W 5772 63 1.1
55 [H p] Firl - - =
56___ W ] i - - =
57 |E B il 177 - 0.0
58 [® & B - - =
59 |m i - - -
[ 3 il 6,098 47 0.8
6|y i - - -
62 |# E i 9,320 94 1.0
63 i i 1877 21 1.1
64 | ) En 235 3 1.3
65 [ W 2,449 25 1.0
65 ﬁﬁ G - - =
ERHET 45172 422 8.9



FR22EE CHRFHVANAREREZSE

(1) 40ME HRES (ZBMETI)

THE. CENETILAL [ & & ¥

¥ 0 & ER =3 E| BRELTOSAREINEBHT (%)

(M) (A) WL EHEENIE (L) o
A B c (C/B X 100)
] it £ K 43,526 859 4 0.5
2 9,292 515 i 0.2]
3 E3 §| 11,651 1033 3 0.3
4 ) ﬁ [} 30,849 1,459 22 1.5
5 23 H 5_! 15,835 554 1 0.2
[ thy ¥ [ 12,32 554 - 0.0
7 [ 30.54 987 i 0.
8 x ¥ [ 34,287 1,586 1 0.
g i & [ 23,901 1,752 - 0.0
10 13 . [} 19,256 1,390 4 0.3
11 5 Ed 3 155418 3,135 6 0.2
12 I E3 [ 75.353 7,021 8 0.3
132 |%¥ S i 238,498 13,588 18 0.1
4 J@ = N M 62837 1,559 4 0.3
5 ® [} 17,466 510 = 0.0
18 i [} 9,143 1,193 - 0.0]
1 & % 10,552 1348 1 0.1
1 E # n 10477 209 - 00
1 iy ] L3 9,988 780 3 0.4
20 E [} 1‘ 17,883 565 - 0.0
21 [ s [} 25,288 1614 2 0.1
22 |m ] gl 42473 2,089 B 0.4
23 * 4 [ 156,228 5.67C 5 .
24 = B 16,679 684 4 0.6
25 H 1 EI 20714 483 = 6.0
26 I3 3 [ 13.753 1,501 i 0.1
27 x 3 [ 111,394 2,102 3 0.1
28 5 i [ 76414 1.473 13 0.9
28 = B [ 20,338 872 1 0.1
30 T ) 12,026 558 - 0.0
3 ) 7] E 5,654 258 - 0.0
32 n 2] | 7,628 81 - 0.0
33 7] [T} [} 24,428 280 2 0.7
34 [ » [} 24,474 334 - 0.0
35 il 5] ! 15,356 38 = 0.0]
36 |@ 6,930 12 - 0.0
3T = ] ) 12,688 76 1 0.1
3B |® - .} 17.52¢ 75 - 0.0
39 ] 0 " 8,983 217 = 00
40 [ B " 47,767 1,01 i 0.1
41 % x [y 4,407 14 F] T4
42 K - [ 7478 235 - 0.0
43 i * [} 3,053 445 [ 2.5
44 * 7 [ 4,367 382 1.3
45 [} 77.114 275 0.4
48 [ [ 1,367 982 0.1
47 i 19,691 400 - 0.0
R | 1,595,656 64,524 148 0.2

{14038 85 (PR IFSET)

TRE. CER&EDTILAIZ [ & & &

# 2 K= B B BRLTLWSEERHHESHT (36)

(A) (A) LA SRR ENLE(A) (2]
‘ A B __C (C/BX100).

(%)

48 H [} i - - - -
49 fil B i 15,050 - = -
50 ERRNE 2 3K 2).240 907 = 0.0
51 3 3 7 17,505 1.871 5 0.3
52 1 S b ] 49 - o.o!
53 __ il ] i - - - =1
54 B 12.433 789 1 0.3
55 |3 ) G - - -
56 ) 7} il - - - -
57 |E " fid 11,500 118 - 0.0
58 2 B B W ~ - - -
58 = o i - - - -]
60 . 3 hid 40,357 235 - 0.0
61 = T - - -~ -]
62 P i 23,821 507 1 0.2
63 ﬁ il ih 9,996 [ - 0.0
4 [ & i 3,429 13 - 0.0
5 E h M & 3117 58 - 0.0
6 ] il - = = -
ﬁl fiti3 158.948 4141 B 0.2

24



{2) 40k HREE LI O X E ~ DR (FINFFR)
IRE. CHF#ILRIZ {8 #® - k-4 B
% B | BRLTUDE RS T (%)
(A) WLk EEh R (L) Cc
A B (B/AX100)
1 de F i 11.337 87 06
2 x F [} 2.926 g 0.3
3 ;_as * n 10,397 43 05
4 = " 5251 2 0.5
5 E:3 3] 797 § 0.8
3 [IT] i 2492 13 0.5
7 a2 10,70 58 0.5
[ [} 1011 60 0.6
9 i [ 1.98 44 0.6
10 5 ] 7.331 0 1.2
11 1% X [ 20622 181 0.6
12 + 31433 an 1.0!
13 L1 i % 98,043 774 038
14 T 22907 163 0.7
15 EA » [, 5,220 18 03
16 E 11] % 1,080 8 0.6
17 £ " [ 3057 19 0.6
1B & 3+ [ 4277 47 1.1
18 [il] ET [ 8,782 83 1.2
20 X %5 [ 7,264 28 04
21 3 B [, 4,764 24 0.5
22 [+ 7] [} 14,386 130 0.9
23 ] ] .8 21,185 181 L]
24 = [ 3 [ 4,421 29 0.7
25 & 1 [} 0683 22 1.1
26 - 57 i 431 16 0.7
27 * . [ii 22 890 172 0.8
28 3 [ [ 27,440 261 1.0
20 F3 1,874 15 ggi
30 R T 3,092 20 0.6
3 3 [ [ 2236 1 0.8
32 [} i) [ 1434 1 1.0
33 [ 1] [ 6777 63 08
34 [ [ [} 9,585 86 0.7
35 [IT] [=] [} 1.230 13 11
a6 [ B [ 1,533 5 03
37 &F [T [] 4,414 43 1.0
38 x 5 [ 4,60 24 05
a5 H n 1,209 8 14
40 =) L 8,30 2 0.7
4 i [ 4,544 103 2.3
4; E 3 n 5,173 20 0.4
4 L7} ES " 4,357 83 19
44 ';5 3 [ 6,247 56 0.9
45 = [ L 2.202 3 0.1
48 E B & B 11,193 86 0.8
47 £l [ 4,285 8 0.2
TAGREH &i 462,918 36271 0.8
()R BBUAORRE~ORE EEHH)
o | TR, CRF#GLRIZ | 3 3
* o T BRLTOST AN T (%6)
(A) WL ERERA- K (A) c
. A . . B . (B-AX100)
()
48 E 7.3 ifi - - -
49 il = i - - -
50 = L = F W 16,985 104 06
51 ER * i 568 7 1.2]
52 E 3 i 1,691 15 0.9
CER T - - =
54 A W 5,772 k) 0.7
55 En F] Ll - - -
56 [ ] Gid - - -
57 i 2 fid 179 2 1.1
58 B w B W - - -]
59 7 [ fit - - =
0 * & h 6,098 37 0.6
1 3 ifi - - =
2 ] B G 9,320 51 0.5
63 7] 17} il 1,868 18 10
64 & - ] 235 2 0.9
[H I Hh #H W 2,448 7 0.3
56 g B3 it - - =]
[TRZ G 45,166 281 0.8




B 7L ABBITOWT ORER T - RERBROERRR

(M)
AR K1 $5i7] |
% { [
1 EA F T3 34 1,682 167 480
2 41 1.504 5 404
3 E 3 [.& 20 1,667 44
4 JIE 73 21 961 [ 19
5 # 53] % 4 [ 3 14
6 [ n 10 260 34 62
7 20 709 43 334
8 E 81 2,956 163 1185
9 i #* - - 15 18
10 g . [} 2 38 47 54
11 x W = = 14 i4
12 ¥ : 3 [ 1 50 247 380
131 H = - 181 244
14 n - - 1 1
15 ] [ - - 8 8
16 [H] [ 1 26 3 251
17 ) H .Y - - 20 17
18 & 3# " 1 2 37 73
19 1T X [, z 64 57 138
20 |K [+ [} 151 721 3 238
21 3 B [.1 7 736 26 4689
22 [ 3 2] . 5 212 36 172
23 ¥ 0 [} 2 51 16 149
24 = 1 n 1 22 10 34
25 it - - 47 330
26 = 5 % - - 9 [
27 * -3 ﬁ 185 6,178 151 471
28 I3 1 85 33 742
29 3 [} i) 207 8 16
EE T T § 251 10 1
31 J 1 7 1 2
32 27 1.224 26 120
33 [} i " 70 2,215 20 584
34 13 & 270 10 18
a5 i} [&] 25 334 10 70
36 & ] i 1 18 3 3
Y T [ 8 492 2 2
3g ¥ ] [ 1 17 15 18
3g F a [ - - 8 9
40 488 2.874 284 538
41 [} 8 199 52 1,526
42 & 3 i 1 64 - -
43 [ E 3 n 1 55 26 30
44 x 33 n i 372 = -
45 62 969 86 503
46 ) 174 4,962 1 1.710
47 Fa - - 166 1784
= 1571 32.990 2,640 13,562
{ if7)
: . W
o M=) 3 (=) PEANCL RGP () ARCA)
(Al
48 iR [ ] - = = =
48, i v 7 - = - =
I O - - 13 13
51 F * i - - 215 215
52 [ & i - - = -
53 n [ il - - - -
54 i - - - -
55 % i - - - -
56 !g =] [ - - - =
57 R A il - - - -
58 & o M = - - -
59 8 H - - - =
80 x [ fit] 178 5,847 - =
61 [ i - - - -
52 il P i - - - -
63 ] Lt L] - - - -
64 15 [} i - - -
65 4 h M W 483 2774 254 418
66 - - - -
‘ E%ﬁ%ﬁ 659 8.621 482 646

2



METFMERE S RIHER

(FWIMATR)
_BE R LR CUHESILARE '
& 2o ER £ &K [ EMD S XHlEX LK R
() (A) {A) (96) (A (A) (A} (96)
H D
E E G (F/Ex100) A B ¢ __l(B/Aax100)
i & A & 1,982 i) 1,903 40 1,346 10 1,336 0.7
Fl * 5 R 3,158 81 3,078 26 1,490 15 1475 1.0
3 FEE ) 2,627 47 2,785 15 1,975 5 1,966 0.5
4 571 7 564 1.2 358 1 357 0.3
5 569 1 568 0.2 560 ) 587 0.4
6 532 9 523 17 128 - 2B 00
7 3,661 20 3,831 0.8 38614 35 2578 1.0
8 1.008 3 1,005 0.3 B48 2 B46 0.2
9 2 ) 275 07 275 1 274 0.4
i0 5 - 5 0.0 5 = § 0.0
1l 2,658 23 2,630 K] 2,604 11 2,593 04
12 i - = - - - - -
13 9,950 ] G945 05 8,991 ik 9.580 0.1
14 363 1 362 03 363 1 362 03
15 0 - - - - - -~ =
18 0 = - - - - - =
17 34 - 34 0.0 34 - 3t 0.0
18 a4 F 142 T4 124 2 122 16
19 7.945 76 7.889 1.0 7,901 70 7,837 09
20 1479 24 1,455 16 540 19 521 25
21 480 3 77 06 481 - 481 0.0
22w @ m 452 2 450 0.4 457 4 448 0.3
23 10,718 89 10,630 0.8] 8,584 a5 5489 11
24 3 - 31 0.0 I - 3 0.0
25 0 - - - - - = -
26 710 g 762 .0 770 4 766 0.5
37 5258 g 5210 0. 5,261 30 523t 0.8
28 1,705 14 1,601 0. 1.705 21 1.684 1.2
25 14 - 14 0. 14 - 14 0.0
20 1069 4 1.085 0.4 721 7 714 1.0
2l 2417 56 2421 2.3 2477 31 2446 13
32 4518 50 4458 11 4541 115 4,478 25
33 [ - - = = - - -
34 1,868 3 1,830 20| 1,868 4 1,864 | 0.2
35 2 2 27 69 0 1 ] 33
36 443 3 240 0.7 254 3 251 1.2
37 (] 2 62 3.1 64 - &4 6.0
38 153 - 153 0.0 143 i 148 0.7
3 3 - 3 0.0 3 = 3 0.0
40 170 3 167 18 173 3 170 17
41 1,072 10 1.062 0.9 1,078 7 1,068 07
42 297 2 295 o.?l 201 2 289 07
43 370 6 364 16 370 4 366 i
44 0 - = - - - - -
45 408 6 402 15 408 6 407 15
45 X, 169 - 169 0.0 167 - 167 0.0
47 [ 38 1z 826 i4 B4 z 82 24
& 70,582 768 69,793 13 62145 529| 61616 0.9
(=)
BYEN&TAILAER. Wﬁ%mbz?sg
E5 % AN & [ {3 5 R E - ] - K[ & £ X
‘ (A) (A - (A (%6 (A) (AD (A} (9%)
H D
E F G (F.~E x 100} A B c_ |eraxt100
(6300
A8 i W & = = - = z = 2 =
43 W & @ - = - - - = = -
50 Z-Fm - - - - - - - =
51 W = - = = - - - =
52 W - = = - = = = -
53 W - - - - - - = -
54 K WX - = = ol = = - =
55 1% M A - = = = nd = - =
56 B - = = - = - = -
57 |k # = = - = = - - -
56 [E BB - - = - = = = z
59 = & & - - - - - - - -
60 - = - - - - - -
61 |® - = - - Y = =
62___|®w P 1 - - - - - - = -
83 |8 - - = = = = - -
a4 = & @ - - = - - - - =
[ it A - - d = - o -
66 LG - - - - - - - .
Eemmil - - - - - - =




